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Part 1: Multiple Choices. (30 marks) 
1.
Which is a factor that could interrupt the progress of succession?


a.  colonization of surfaces by lichens


c. another natural disturbance


b. different animals appearing at each stage

d. long-term fluctuations in climate

2.
An estuary is:

A. a deep pool in the ocean


C.  a coastal saltwater marsh

B.  a tidal pool 




D.  a coastal wetland


3.
What biome has permafrost and very low precipitation each year?

A) tundra 
B) boreal forest

C) grassland

D) temperate deciduous forest

4. 
Why is the depletion of the ozone layer considered such a serious problem?

A. It has a negative effect on cellular respiration

B. It has a negative effect on cloud formation
C. It is responsible for the greenhouse effect
D. It is responsible for an increased exposure to UV radiation
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5.
The succession that occurs in an abandoned farm field is .........

A. Primary succession


C. Gradual succession

B. Secondary succession

D. Pond successsion

6.
What biome has very warm summers with up to 25-75 cm of precipitation per year?


a)    tundra 
b) boreal forest

c) grassland

d) temperate deciduous forest

7.
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a) Tundra, grasslands, temperate deciduous forest, boreal forest

b) Tundra, desert, temperate deciduous forest, grasslands, boreal forest

c) Tundra, temperate deciduous forest, grasslands, boreal forest

d) Tundra, grasslands, boreal forest, temperate deciduous forest, tropical rain forest

8.
Lime sulfur was used by farmers to kill unwanted insects in their crops. Which term describes lime sulfur?


A. fertilizer

B. nutrient

C. parasite


D. pesticide

9.       How does carbon dioxide enter ecosystems?

a) Photosynthesis
   b) burning of fossil fuels
c) nitrification
  d) denitrification

10.
Which of the biomes has highly acidic soil?

a) tundra 
b) boreal forest

c) grassland

d) temperate deciduous forest

11. 
You see a pond that has a fair amount of algae present.  You determine that this pond is likely a result of:


A.  Deforestation 
B. Eutrophication 
C. Ozone Depletion 
 D. Greenhouse Effect

12.
In which soil layer is humus found?



A.  bedrock

B.  litter 

C.  subsoil


D.  topsoil

13.
Which is not a factor directly affecting soil quality?

A. Temperature 
B. pH


C. Salinity


D.  Porosity




14.
Rich, dark soil containing an abundant supply of nutrients and organic materials are called what? 


A. Chernozem Soils
B. Humus Soils 
C. Litter


D. Topsoil
28.


15.
Which is an example of a primary succession?

A. change from aquatic to a terrestrial community 

B. colonization of rocks by lichen

C. continued growth of a large and varied forest

D. colonization of a bog by large trees.

16.
Which would have the lowest level of DDT in an ecosystem?

A.  plankton  

B. gull   
C. codfish   

D. killer whale

17.
The cycle in a farmer's field that would be most severely affected by the repeated harvesting of that field is the


A. carbon cycle
B. nitrogen cycle
C. oxygen cycle


D. water cycle

18. 
Which of the following percentage of the total land surface of Earth is suitable for cultivating crops?

A. 6 %

B. 10 % 

C. 11 %


D. 14 %

19.     The practice of growing monocultures of plants is:

A. the best way of achieving a sustainable ecosystem;

B. the best way to maintain a sustainable balance of nutrients without adding fertilizers; 

C. a threat to sustainability because a single disease or pest could wipe out an entire crop;

D.  a threat to sustainability because it is too expensive
20.
What is NOT an example of an agricultural method used in integrated pest management? 

A. crop rotation



C. providing shelters for spiders

B. attracting birds to eat pests

D. growing large fields of one variety of vegetable 

21.
Which biome do we live in?


a) tundra 
b) boreal forest

c) grassland

d) temperate deciduous forest
  

22. 
In the lake, what zone is the deepest, darkest, and contains the no light?



a) littoral

b) limnetic

c)  profundal


d) Portobello

23.      What is NOT an example of a long term stress on an ecosystem?

a) Introduced an exotic species

c)   A drought for several months

b) Forest fire



d)  A hot sunny day

24.
The process of water seeping downward, often carrying nutrients and other organic material with it is called:

A. Leaching

B. Acid Deposition
C.  Runoff

D. Pesticide

25.  
What type of organisms might be identified as pioneer organisms?

a)  fir trees

b)  migratory birds
c)  lichens and algae

d)  small shrubs

26.  
What climax community would one find on the island of Newfoundland?

a)  deciduous trees (ex. birch and maple)

c)  mostly grasses

b)  coniferous trees (ex. fir and spruce)

d)  small shrubs

27.  
At each stage of the food chain the concentration of pesticides become greater.  What is this called?                                                  

a)  first-generation pesticides


c)  bioaccumulation

b)  second-generation pesticides


d)  bioamplification

28.      Spring runoff of nitrogen and phosphate in fertilizers:
a) helps improve the quality of waterways

b) promotes the growth of excess amounts of algae

c) provides more oxygen for fish and other aquatic organisms

d) is generally beneficial to the environment

29.
    Trees were harvested from a mature forest and the area was replanted with only birch trees.      

          What will the new forest become an example of?

 
A. selective planting

B. monoculture
C. polyculture

D. uniharvest
30. 

Windsor Lake, a deep, cold and low nutrient lake, and our Cities water supply, would be considered:


A.  Depleted 

B. Eutrophic

C.  Neritic 


D.  Oligotrophic
Part II: True/False (10 marks)
1.  Approximately 2.3 million tons of pesticides are use yearly around the world.

______


2.  Topsoil layer contains larger rocks with small amount of



______
    

     organic matter.

3. The ocean covers over 71 % of the earth’s surface.




______


4. Primary session occurs due to a forest fire.





______

5. Water - soluble chemicals cannot be released in urine or sweat.


______

6. The build-up of pesticide pollutants in ponds and lakes occurs mostly due

______

     to precipitation.

7. All countries in the world have banned DDT.




______

8. The Pine Marten is an endangered species





______

9. A marine biome is made of ponds, rivers and streams.



______

10.   A monoculture is more susceptible to pest.





______




Part III: Answer all questions in the space provided. (10 marks)
1.   Explain how soil can be altered by acid deposition and pollutants?
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2. Describe the evolution of pesticides from the early types to the modern pesticide we use today.
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